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To conclude on DVRB it is proposed

· Gap values per Table

	System BW, NRB 
	RBG Size (P)
	Gap 1, g1
	Gap 2, g2

	6-10
	1
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	N/A

	11
	2
	4
	N/A

	12-19
	2
	8
	N/A

	20-26
	2
	12
	N/A

	27-44
	3
	18
	N/A

	45-49
	3
	27
	N/A

	50-63
	3
	27
	9

	64-79
	4
	32
	16

	80-110
	4
	48
	16


FFS if we should slightly change Table to place unused PRBs at end of band

· The maximum number of VRB-pairs which can be assigned to one UE for system bandwidth 50-110RB is 16

· One bit in resource allocation field indicates the gap value
· Remaining bits in resource allocation field are used for VRB-pair assignment.
· The first half of the RIV table is used for DVRB

· Block interleaver

· Block interleaver with Ncol columns and Nrow rows 
· Write row-by-row 

· Read column-by-column 

· Nnull nulls are inserted in the last Nnull/2 rows of the 2nd and 4th column. Nulls are skipped when reading out. 
· Dimensions
· Ncol=4, Nrow=(N’RB/(4P)(*P 
· for 1st gap, N’RB=2*min(g1, NRB- g1)
· for 2nd gap, N’RB=2g2
· Nnull = Ncol*Nrow- N’RB
· In case of 2nd gap value

· Consecutive N’RB VRB-pair indices compose a unit of VRB-pair index interleaving.
· The first N’RB VRB-pair indices are mapped on the lowest part of the bandwidth, i.e. RB#0~2g2-1
· The next N’RB VRB-pair indices are mapped on the next part of the bandwidth, i.e. RB#2g2~4g2-1
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